27 Selvage St.,,

ALPIN— \ ¢, 1-800-805-1790 @@ Alpineindustries.com \
— hd ' &2 |rvington, NJ 07111
STEP 1 STEP 2 STEP 5 STEP 6
Open it with key,take out the Install the back holder
bottle and pump with dispenser
Bottle+Pump l @/Key
ﬂ Screw M4x15
(4pcs)
FrontCover
Install Back Holder
Screw M4x40\/,l o Pole 3 |
C
STEP 3 STEP 4 e ths scrsieto locig) L
Put Advertising photo inside Install the AD Board m oole 2
of 2 pcs AD board on dispenser ole
Scr(iwcl\g)élx15 Advertising photo (. i
p Screw M4x15 Nut M4 U
(3pcs) ]
,,,,,,,,,,,,,,,,,,, Pole 1
Base C L [ Lo h
= A
A . .
*fix 4 pcs C size batteries,
. o : fill liquid and turn on the
* Advertising photo size: 18x 18cm Base ScreW/Nut/ﬁ SWith:h. enjoy your health
hand sanitizing.
Install AD Board (If Needed) Install Pole and Base Enjoy hand sanitizing




